Nombre del | N°de Medida N°de | Medida | Area
cuadrilatero | Angulos | de los lados de los
iguales | angulos | iguales | lados
Cuadrado 4 A=90° 4 5cmc/ 25
B=116.57° lado cm2
C=63.43°
D=90°
Rombo 2:2 A=61.93° 4 5.83cm 30
B=118.07° c/lado cm2
C=61.93°
D=118.07°
Rectangulo 4 A=90° 2:2 A-B=5cm | 20
\ B=90° B-C=4 cm2
C=90° cm
’ D= 90° C-D=5
cm
D-A=4
cm
Romboide 2:2 A=101.31° 2:2 A-B= 10
B=78.69° 3.61cm cm2
C=101.31° B-C=
D= 78.69° 2.83cm
C-D=
3.61cm
D_ =
2.83cm
Trapecio 0 A=103.43° 0 A-B=6.32 | 33
B=71.57° cm cm2
C=116.57° B-C=5
D=63.43° cm
C-D=6.71

cm




D-A=6
cm

Trapezoide

A=113.57°,
B=100.3°,
C=64.440°,
D=78.6°

A-B=
2.24cm
B-C=5
cm
C-D=
5.1cm
D-A=4
cm

15.5
cm2




